
Name: LösungsschlüsselUnechte Brüchen addieren und subtrahieren

Mathe www.CommonCoreSheets.de
1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

Antworten

1.
4⁄12

2.
24⁄8

3.
17⁄12

4.
13⁄3

5.
1⁄4

6.
20⁄6

7.

0
⁄8

8.
24⁄6

9.
3⁄8

10.
27⁄5

11.
14⁄10

12.
36⁄12

Löse jede Aufgabe.

1) 23
12

-
19
12

=

23
12

-
19
12

=
4
12

2) 14
8

+
10
8

=

14
8

+
10
8

=
24
8

3) 34
12

-
17
12

=

34
12

-
17
12

=
17
12

4) 8
3

+
5
3

=

8
3

+
5
3

=
13
3

5) 10
4

-
9
4

=

10
4

-
9
4

=
1
4

6) 10
6

+
10
6

=

10
6

+
10
6

=
20
6

7) 18
8

-
18
8

=

18
8

-
18
8

=
0
8

8) 15
6

+
9
6

=

15
6

+
9
6

=
24
6

9) 18
8

-
15
8

=

18
8

-
15
8

=
3
8

10) 14
5

+
13
5

=

14
5

+
13
5

=
27
5

11) 25
10

-
11
10

=

25
10

-
11
10

=
14
10

12) 22
12

+
14
12

=

22
12

+
14
12

=
36
12



Name: LösungsschlüsselUnechte Brüchen addieren und subtrahieren

Mathe www.CommonCoreSheets.de

Antworten

1.
4⁄12

2.
24⁄8

3.
17⁄12

4.
13⁄3

5.
1⁄4

6.
20⁄6

7.

0
⁄8

8.
24⁄6

9.
3⁄8

10.
27⁄5

11.
14⁄10

12.
36⁄12

Löse jede Aufgabe.

1) 23
12

-
19
12

=

23
12

-
19
12

=
4
12

2) 14
8

+
10
8

=

14
8

+
10
8

=
24
8

3) 34
12

-
17
12

=

34
12

-
17
12

=
17
12

4) 8
3

+
5
3

=

8
3

+
5
3

=
13
3

5) 10
4

-
9
4

=

10
4

-
9
4

=
1
4

6) 10
6

+
10
6

=

10
6

+
10
6

=
20
6

7) 18
8

-
18
8

=

18
8

-
18
8

=
0
8

8) 15
6

+
9
6

=

15
6

+
9
6

=
24
6

9) 18
8

-
15
8

=

18
8

-
15
8

=
3
8

10) 14
5

+
13
5

=

14
5

+
13
5

=
27
5

11) 25
10

-
11
10

=

25
10

-
11
10

=
14
10

12) 22
12

+
14
12

=

22
12

+
14
12

=
36
12

1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0


	Worksheet
	Lösungsschlüssel

